Приложение 5
1.Решите уравнение.        2.  Решите уравнение.        3. Решите уравнение.
    4х + 3х=77                             2х + 3х=55                         5х - 3х=22

 4.Решите уравнение.       5.  Решите уравнение.        6. Решите уравнение.
     19х - 3х +5=123                    (х -8)*12 = 132                    ( х- 7)(2 – х) = 0

7.Решите уравнение.        8.  Решите уравнение.        9. Решите уравнение. 
    Х -  Х =  Х+Х                   (  5 – Х)( Х – 3) = 0                   ( 7- Х)*3= 15

10.Решите уравнение.     11.  Решите уравнение.        12. Решите уравнение.                             
         4х + 3=87                                  2+ 3х= 47                               5х - х=24

Ответы :   1. 11         2. 11         3. 11         4. 8           5. 19          6. 7; 2 
                   7. 0           8. 5; 3      9. 2           10. 21       11. 15        12. 6 

